

ITB No. 18-100965
ITB Name: Ductile Iron Water Main Fittings

## DEPARTMENT OF PURCHASING AND CONTRACTING BID TABULATION

Bid Opening: Price Schedule Opening: 6/21/2018 7/25/2018

Agent:

Kyheem Bristol

		Î			Agent:	Kyneem Bristor			
	Company			Delta Municipa	elta Municipal Supply Company		Core and Main, LP		Waterworks
ITEM	COMMODITIES OR SERVICES	NUMBER OF UNITS	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	Bend, 90 M.J., 3-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$43.12	\$431.20	\$40.95	\$409.50	\$34.83	\$348.30
2	Bend, 90 M.J., 4—inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Day	\$50.12	\$502.00	\$47.67	\$476.70	\$40.93	\$409.30
3	Bend, 90 MJ, 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	80	Each	\$77.20	\$6,176.00	\$73.25	\$5,860.00	\$62.83	\$5,026.40



4	Bend, 90 M.J., 8-incb, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class M.J., per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	80	Each	\$102.06	\$8,164.80	\$96.95	\$7,756.00	\$84.73	\$6,778.40
5	Bend, 90 M.J., 10-inch., ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, M.J., per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	5	Each	\$557.98	\$789.90	\$149.50	\$747.50	\$131.04	\$655.20
6	Bend, 90 M.J. 12-inc.h, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$199.07	\$1,990.70	\$189.00	\$1,890.00	\$165.50	\$1,655.00
7	Bend, 90 M.J. 16-inc.h, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	4	Each	\$420.88	\$1,683.52	\$400.00	\$1,600.00	\$353.26	\$1,413.04



8	Bend, 45 M.J., 3-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model or Name No.)	5	Each	\$39.98	\$199.90	\$38.07	\$190.35	\$32.31	\$161.55
9	Bend, 45 M.J., 4-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model or Name No.)	8	Each	\$40.40	\$323.20	\$42.54	\$340.52	\$36.62	\$292.96
10	Bend, 45 M.J., 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	75	Each	\$68.04	\$5,103.00	\$64.63	\$4,847.25	\$54.93	\$4,119.75
11	Bend, 45 M.J., 8-inch, ductile iron, (see NOTE 1) AWWA Standard, I 50 Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	75	Each	\$88.93	\$6,669.75	\$84.48	\$6,336.00	\$73.24	\$5,493.00



12	Bend, 45 M.J., 10-inch ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	500	Each	\$129.35	\$64,675.00	\$122.88	\$61,440.00	\$106.63	\$53,315.00
13	Bend, 45 M.J., 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	5	Each	\$172.80	\$864.00	\$164.16	\$820.80	\$143.25	\$716.25
14	Bend, 45 M.J., 16-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications Bidding On:  (Manufacturer's Name & Model Name or No.)	6	Each	\$322.53	\$1,935.18	\$306.88	\$1,841.28	\$269.61	\$1,617.66
15	Bend, 22-1/2 M.J., 6-Inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	50	Each	\$64.67	\$3,233.50	\$61.44	\$3,072.00	\$52.42	\$2,261.00



	Bend, 22-1/2 M.J., 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 1SO Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	25	Each	\$ 87.58	\$2,189.50	\$83.20	\$2,080.00	\$72.16	\$1,804.00
17	Bend, 22-1/2 M.J., 10-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	5	Each	\$129.01	\$645.05	\$122.56	\$612.80	\$106.27	\$531.35
18	Bend, 22-1/2 M.J., 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	5	Each	\$156.97	\$784.85	\$149.12	\$745.60	\$129.96	\$649.80
19	Bend, 22-1/2 M.J., 16-inch, ductile iron, (see NOTE I), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$312.76	\$625.52	\$297.12	\$594.24	\$261.00	\$522.00



20		l	ı	ı					
20	Bend, 11-114 M.J., 6-inch, ductile iron, (see NOTE I), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	5	Each	\$66.02	\$330.10	\$62.72	\$313.60	\$53.50	\$267.50
21	Bend, 11-1/4 M.J., 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	12	Each	\$82.53	\$990.36	\$78.40	\$940.80	\$67.86	\$814.32
22	Bend, 11-1/4 M.J., 10-inch, ductile iron, (see NOTE 1), AWWA Standard, 150Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$128.34	\$256.68	\$121.92	\$243.84	\$105.55	\$1,266.60
23	Bend, 11-114 M.J., 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150 Lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$150.23	\$300.46	\$142.72	\$285.44	\$124.22	\$248.44



2.4				l			l	l	1
24	Bend, 11 1/4 M.J., 16-inch, ductile iron, (see NOTE 1), AWWA St1111dard, 150 Lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$326.23	\$652.46	\$273.92	\$547.84	\$272.49	\$544.98
25	Clamp, socket, 6-inch, for M.J. fittings, ductile iron, (see NOTE 1), AWWA Standard, 150-Jb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$28.89	\$288.90	\$29.00	\$290.00	\$43.71	\$437.10
26	Clamp, socket, 8-inch, for M.J. fittings, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	30	Each	\$29.20	\$876.00	\$30.00	\$900.00	\$48.44	\$1,453.20
27	Clamp, socket, 12-inch, for M.J. fitting, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	5	Each	\$36.00	\$180.00	\$38.00	\$190.00	\$64.51	\$322.54



28	Coupling, anchoring. M.J., 6-inch x 13-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	300	Each	\$80.51	\$24,153.00	\$76.48	\$22,944.00	\$85.81	\$25,743.00
29	Coupling, anchoring, M.J., 8-inch x 13-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	200	Each	\$103.07	\$20,614.00	\$97.92	\$19,584.00	\$109.86	\$21,972.00
30	Coupling, anchoring, M.J., 6 inch x 24-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	50	Each	\$119.92	\$5,996.00	\$113.92	\$5,696.00	\$127.81	\$6,390.50
31	Coupling, anchoring, M.J., 8-inch x 24-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	60	Each	\$119.92	\$7,195.20	\$215.04	\$12,902.40	No Bid	No Bid



32									
	Coupling, anchoring, M.J., 6-inch x 36-inch (long), ductile iron, (see NOTES 1 d 2), AWWA Standard, 150-lb.Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	50	Each	\$151.92	\$7,596.00	\$144.32	\$7,216.00	\$135.35	\$67,067.50
33									
	Coupling, anchoring. M.J., 8-inch x 36-inch (long), ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb.Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	40	Each	\$371.00	\$14,840.00	\$300.00	\$12,000.00	No Bid	No Bid
34	Coupling Anchor, M.J., (Gradelok), 6-inch x 12-inch, ductile iron, (see NOTES 1 and 2), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	1	Each	\$98.00	\$98.00	\$76.48	\$76.48	\$285.30	\$285.30



25		l	I	1				1	
35	Cross, M.J., ductile iron, 6-inch x 6-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$159.66	\$319.32	\$138.24	\$276.48	\$130.68	\$261.36
36	Cross, M.J., ductile iron, 8-inch x 6-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$166.06	\$332.12	\$157.76	\$315.52	\$136.42	\$272.84
37	Cross, M.J., ductile iron, 8-inch x 8-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$174.48	\$1,744.80	\$165.76	\$1,657.60	\$144.32	\$14,043.20
38	Cross, M.J., ductile iron, 12-inch x 6-inch, (see NOTE 1), AWWA Standard, 150-lb. Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$249.26	\$498.52	\$236.80	\$473.60	\$205.35	\$410.70



39									
39	Cross, M.J., ductile iron, 12-inoh x 8-inch, (see NOTE 1), AWWA Standard, 150-lb.Class, per enclosed Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.	2	Each	\$278.23	\$556.46	\$264.32	\$528.64	\$230.84	\$461.68
40	Gland, retainer, 6-inch, split Megulug, Series 1100 SD, (see NOTE 1), AWWA Standard, 150-lb. Class, per Enclosed Minimum Specifications and Special Specifications. Bidding On:	20	Each	\$71.71	\$1,434.20	\$68.12	\$1,362.40	\$76.43	\$1,528.60
41	Gland. retainer, 8-inch, split Megulug, Series 1100 SD. (see NOTE 1), AWWA Standard, 150-lb. Class, per Enclosed Minimum Specifications and Special Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	20	Each	\$88.29	\$1,765.80	\$83.88	\$1,677.60	\$94.11	\$1,082.20



42									
2	Gland, retainer, 10-inch, split Megulug, Series 1100 SD, (see NOTE 1). AWWA Standard, 150-lb. Class, per Enclosed Minimum Specifications and Special Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$110.24	\$220.48	\$104.73	\$209.46	\$117.49	\$234.98
43	Gland retainer, split Megulug, Series 1100 SD, 12- inch, (see NOTE 1), AWWA Standard, 150lb Class, per Minimum Specifications and Special Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$136.93	\$273.86	\$130.08	\$260.16	\$145.93	\$291.86
44	Plug, 6-inch solid, M.J., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	80	Each	\$40.42	\$3,233.60	\$38.40	\$3,072.00	\$28.01	\$2,240.80



4.5		1		1				1	
45	Plug, 8-inch solid, M.J., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	50	Each	\$54.57	\$2,728.50	\$51.84	\$2,592.00	\$41.65	\$2,082.50
46	Plug, 10-inch solid, MJ., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum . Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$90.61	\$181.22	\$86.08	\$172.16	\$72.52	\$145.04
47	Plug, 12-inch solid, M.J., ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	12	Each	\$89.80	\$1,077.60	\$86.08	\$1,032.96	\$71.45	\$857.40
48	Plug, 16-inch solid, M.J., ductile iron, (see NOTE I), AWWA Standard, 150-lb. Class, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$215.33	\$430.66	\$204.80	\$409.60	\$188.84	\$377.68



49									
	Plug, 6-inch x 1/2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	20	Each	\$40.42	\$808.40	\$49.28	\$985.60	\$45.21	\$904.20
50	Plug, 6-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$40.42	\$404.20	\$49.28	\$492.80	\$40.21	\$804.20
51	Plug, 6-inch x 3-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$43.62	\$436.20	\$41.44	\$414.40	\$140.73	\$1,407.30



52	Plug, 6-inch x 4-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$61.52	\$615.20	\$58.44	\$584.40	\$140.73	\$ 1,407.30
53	Plug, 8-inch x 1/2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	20	Each	\$66.36	\$1,327.20	\$63.04	\$1,260.80	\$59.21	\$1,184.20
54	Plug, 8-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$66.36	\$663.60	\$63.04	\$630.40	\$54.21	\$542.10
55	Plug, 10-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$102.40	\$204.80	\$97.28	\$194.56	\$85.09	\$170.18



56									
	Plug, 12-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$100.00	\$200.00	\$96.96	\$193.92	\$83.65	\$167.30
57	Plug, 16-inch x 2-inch, M.J., I.P. Tap, ductile iron, (see NOTE 1), AWWA Standard, 150-lb. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$215.33	\$430.66	\$222.72	\$445.44	\$208.94	\$417.88
58	Reducer, M.J., 6-inch x 3-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	15	Each	\$55.58	\$833.70	\$52.80	\$792.00	\$44.88	\$673.20



59									
39	Reducer, M.J., 6-inch x 4-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On::  (Manufacturer's Name & Model Name or No.)	15	Each	\$52.55	\$788.25	\$49.92	\$740.80	\$42.73	\$640.95
60	Reducer, M.J., 8-inch x 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	100	Each	\$71.07	\$7,107.00	\$67.52	\$6,752.00	\$57.80	\$5,780.00
61	Reducer, M.J., 10-inch x 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$89.94	\$179.88	\$85.44	\$170.88	\$73.60	\$147.20



62									
	Reducer, M.J., 10-inch x 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On: (Manufacturer's Name & Model Name or No.)	2	Each	\$95.33	\$190.66	\$91.84	\$183.68	\$79.34	\$158.68
63	Reducer, M.J., 12-inch x 6-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$108.13	\$216.26	\$102.72	\$205.44	\$88.68	\$177.36
64	Reducer, M.J., 12-inch x 8-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$111.16	\$222.32	\$105.60	\$211.20	\$91.55	\$183.10
65	Reducer, M.J., 12-inch x 10-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$125.98	\$251.96	\$119.68	\$239.36	\$103.76	\$207.52



66									
00	Reducer, M.J., 16-inch x 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$225.09	\$450.18	\$214.08	\$428.16	\$187.40	\$374.80
67	Reducer, M.J., 24-inch x 16-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$564.63	\$1,129.26	\$536.64	\$1,073.28	\$475.32	\$950.64
68	Restraint, thrust, 3-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megulug Series 1100 or Uniflange Series 140; per Minimum Specifications and Special Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	24	Each	\$21.82	\$523.68	\$20.82	\$499.68	\$23.36	\$560.64



69									
09	Restraint, thrust, 4-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megulug Series 1100 or Uniflange Series 140; per Minimum Specifications and Special Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	24	Each	\$23.85	\$572.40	\$22.66	\$543.84	\$25.43	\$610.32
70	Restraint, thrust, 6-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megulug Series 1100 or Uniflange Series 140; per Minimum Specifications and Special Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	300	Each	\$29.09	\$8,727.00	\$27.99	\$8,397.00	\$31.41	\$9,423.00
71	Restraint, thrust, 8-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megulug Series 1100 or Uniflange Series 140; per Minimum Specifications and Special Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	400	Each	\$39.35	\$15,740.00	\$38.15	\$15,260.00	\$42.80	\$17,120.00



72									
12	Restraint, thrust, 10-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megulug Series 1100 or Uniflange Series 140; per Minimum Specifications and Special Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	20	Each	\$57.10	\$1,142.00	\$54.25	\$1,085.00	\$60.86	\$1,217.20
73	Restraint, thrust, 12-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megulug Series 1100 or Uniflange Series 140; per Minimum Specifications and Special Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	100	Each	\$76.75	\$7,675.00	\$72.91	\$7,291.00	\$81.80	\$8,180.00
74	Restraint, thrust, 16-inch M.J., (see NOTE 1), AWWA Standard, Class 150; Megulug Series 1100 or Uniflange Series 140; per Minimum Specifications and Special Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	30	Each	\$134.88	\$4,046.40	\$130.83	\$3,924.90	\$146.77	\$4,403.10



75									
	Sleeve, solid long, 6-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	200	Each	\$72.95	\$14,590.00	\$69.12	\$13,824.00	\$58.88	\$11,776.00
	Sleeve, solid long, 8-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	150	Each	\$103.07	\$15,460.50	\$97.92	\$14,688.00	\$85.45	\$12,817.50
	Sleeve, solid long, 10-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$131.03	\$1,310.30	\$124.48	\$1,244.80	\$108.06	\$1,080.60



78									
78	Sleeve, solid long, 12-inch x 12-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	40	Each	\$163.03	\$6,520.00	\$154.88	\$6,195.20	\$134.99	\$5,399.60
79	Sleeve, solid long, 16-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	12	Each	\$297.94	\$3,575.28	\$283.52	\$3,402.24	\$248.79	\$2,985.48
80	Sleeve, solid long, 14-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$247.24	\$494.48	\$234.88	\$469.76	\$205.35	\$410.70



81									
	Sleeve, solid long, 18-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$382.65	\$765.30	\$363.52	\$727.04	\$322.03	\$644.06
82	Sleeve, solid long, 20-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$479.66	\$959.32	\$455.68	\$911.36	\$403.52	\$807.04
83	Sleeve, solid long, 24-inch x 15-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$642.69	\$1,285.38	\$610.56	\$1,221.12	\$541.38	\$1,082.76



0.4									
84	Sleeve, solid long, 30-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$1,286.74	\$2,573.48	\$1,372.16	\$2,744.32	\$1,372.98	\$2,745.96
85	Sleeve, solid long, 36-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$1,825.68	\$3,651.36	\$1,734.40	\$3,468.80	\$1,927.66	\$3,855.32
86	Sleeve, solid long, 42-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$2,632.42	\$5,264.84	\$2,500.80	\$5,001.60	\$2,577.89	\$5,155.78



87									
G/	Sleeve, solid long, 48-inch x 24-inch, M.J., ductile iron, (see NOTE 1). AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$3,584.67	\$7,169.34	\$3,405.44	\$6,810.88	\$3,621.10	\$7,242.20
88	Reducer, M.J., 16-inch x 12-inch, ductile iron, (see NOTE 1), AWWA Standard, 150-1b. Class, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$225.09	\$450.18	\$214.08	\$428.16	\$187.40	\$374.80
89	Tee, 6-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	50	Each	\$113.18	\$5,659.00	\$107.52	\$5,376.00	\$92.27	\$4,613.50



90									
90	Tee, 8-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	30	Each	\$133.05	\$3,991.50	\$126.40	\$3,792.00	\$109.86	\$3,295.80
91	Tee, 8-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	60	Each	\$152.59	\$9,155.40	\$144.96	\$8,697.60	\$113.09	\$6,785.40
92	Tee, 10-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$172.46	\$344.92	\$163.84	\$327.68	\$142.17	\$284.34



02									
93	Tee, 10-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$170.78	\$341.56	\$183.68	\$367.36	\$159.76	\$319.52
94	Tee, 10-inch x 10-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$219.28	\$438.56	\$208.32	\$416.64	\$181.30	\$362.60
95	Tee, 12-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	5	Each	\$ 204.46	\$1,022.30	\$194.24	\$971.00	\$168.73	\$843.65



96									
	Tee, 12-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$227.71	\$2,277.10	\$216.32	\$2,163.20	\$188.84	\$1,888.40
97	Tee, 12-inch x 12-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$282.27	\$564.54	\$268.16	\$536.32	\$234.43	\$468.86
98	Tee, 16-inch x 8-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$411.79	\$823.58	\$391.68	\$783.36	\$344.64	\$689.28



99									
77	Tee, 16-inch x 6-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$385.18	\$770.36	\$366.40	\$732.80	\$321.67	\$643.34
100	Tee, 16-inch x 16-inch, M.J., ductile iron, (see NOTE 1), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$597.47	\$1,194.94	\$568.32	\$1,136.64	\$501.17	\$1,002.34
101	Tee, flanged, 3-inch x 3-in h, ductile iron, (see NOTE l), AWWA Standard, Class 150, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	40	Each	\$51.20	\$2,048.00	\$54.72	\$2,188.80	\$54.57	\$2,182.80



102									
102	Tee, flanged, 4-inch x 4-inch, ductile iron, (see NOTE J), AWWA Standard, Class 150, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	40	Each	\$101.05	\$4,042.00	\$105.36	\$4,214.40	\$107.70	\$4,308.00
103	Tee, hydrant, 6-inch x 6-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	150	Each	\$105.00	\$15,750.00	\$104.32	\$15,648.00	\$90.40	\$13,570.50
104	Tee, hydrant, 8-inch x 8-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	50	Each	\$132.00	\$6,600.00	\$126.40	\$6,320.00	\$110.94	\$5,547.00



105									
	Tee, hydrant, 10-inch x 10-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	2	Each	\$174.48	\$348.96	\$165.76	\$331.52	\$145.04	\$290.08
106	Tee, hydrant, 12-inch x 12-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	20	Each	\$194.02	\$3,880.40	\$184.32	\$3,746.40	\$161.55	\$3,231.00
107	Tee, hydrant, 16-inch x 16-inch x 6-inch, M.J., ductile iron, (see NOTES 1), AWWA Standard, Class 150; U. S. Pipe Figure No.U-592 or acceptable equal, per Minimum Specifications.  Bidding On:  (Manufacturer's Name & Model Name or No.)	10	Each	\$338.02	\$3,380.20	\$321.60	\$3,216.00	\$282.54	\$2,825.40



108									
	Bend, 90 degree FLXFL, 3-inch ductile iron, (see NOTE 1), AWWA Standard. Class 150; U.S. Pipe Figure No. U-592 or acceptable equal, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	40	Each	\$35.71	\$1,428.40	\$43.28	\$1,731.20	\$38.06	\$1,522.40
	Bend, 90 degree FLXFL, 4-inch ductile iron, (see NOTE 1), AWWA Standard. Class 150; U.S. Pipe Figure No. U-592 or acceptable equal, per Minimum Specifications. Bidding On:  (Manufacturer's Name & Model Name or No.)	40	Each	\$55.24	\$2,209.60	\$61.84	\$2,473.60	\$58.88	\$2,355.20
110	Deduct per load if picked up by DeKalb County	As Required	Each	No Bid	No Bid	No Bid	No Bid	\$50	\$50
		Total		\$391,378.16		\$366,516.94		\$337,951.27	
	t the Mandatory LSBE Meeting (Yes/No) led Price Schedule (Yes/No)								
Separate Sea	icu i i ice ocheume (168/110)			NOTES - DETAIL I	IUSTIFICATION			1	

Witness Signature: Agent Signature: